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Homework 2

Chapter 5

1) You are the CIO of your company. You have just made a presentation to your CEO, proposing that the company implement a data warehouse. The CEO responds “We already have several databases, don’t we? Why do we need a data warehouse?” What points would you want to make to justify the creation of a data warehouse. Give at least 3 points.
There are many advantages from using a data warehouse versus multiple databases including but not limited to:

· A data warehouse would provide business users with a centralized view of the company data by integrating data from sales, service, manufacturing, as well as other information relevant to the company’s operation.

· Data warehouses ease the process of customers accessing information when combined with internet technologies.

· With information stored in a central location, reports on trends across various departments or units can be created, allowing for more useful information.

2) Should the university implement a data warehouse? If not, why not? If they should, why? What are 3 types of uses for the data warehouse in the university (I want this even if you don’t recommend it)?

The university should implement a data warehouse.  Information from each department, the registrars, payroll and accounting, and much more could be brought together to remove data redundancy as well as providing more useful statistics to the university administration.  The possible uses of a data warehouse for the university could be:

· Accounting and payroll records

· Research grant records

· Student enrollment records

3) Should the university implement a datamart? If not, why not? If they should, why? What are 3 types of uses for the datamart in the university (I want this even if you don’t recommend it)?
Yes the university should build a datamart.  A datamart could allow each department to individually maintain their information while still allowing for a somewhat centralized system.  Using this type of database management system, each respective department would be able to customize and manage their own data, while still being linked up to the universities central system.  Three uses for a datamart could be:

· Accounting and payroll records

· Research grant records

· Student enrollment records

Each of these systems would be linked to a centralized university server, which would maintain certain universal information such as employee and student information.  This system would only work if each system was linked up to reduce data redundancy errors.

4) Answer the questions for the Harrah’s Entertainment Database Case (pages 160 – 161)

1. The main problem with Harrah’s Total Rewards System was that each of their casinos operated independently.  If a customer’s information was stored on more than one of the casinos, integration of the two systems could get ugly, fast.  One can only hope that each customer was given a unique identification number, stored as the primary key in Harrah’s database.  One good field for the primary key would be a social security number, as it is universal throughout American citizens.  This problem would be true in developing any system where there is the possibility of data overlap.
2. Harrah’s Total Rewards system gave them the ability to have a vast amount of information at their fingertips.  The example of a customer phoning in and the agent being able to view the past history of the client provides them with the ability to cater specifically for their clientele.  

5) How are Object Oriented databases similar to Relational Databases? How are they different?

Object orientated databases are similar to relational databases in that they store information in an organized fashion, and allow for quick retrieval.  Whereas object-orientated database models are based upon the “idea of a small amount of data encapsulated with all the data needed in order to perform an operation with that data,” a relational database is based upon a group of tables, in which fields are linked by rows or columns.
6) What is the difference between a logical and physical data model?

The physical data model consists of the actual physical hardware storage and location of data on a storage device.  The logical view allows users to view and manipulate how what data they are seeing, and to modify it.

